STD 9 Maths
Home Test-1

Total Marks : 25
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Choose the right answer from the given options. [1 Marks Each]

- The value of /20 x /5 is:

(A) 10 (B) 45 (C) 245

. Write the correct answer in the following:

\/v/22 equals.

Wt )2

(C) 25

. If /2 = 1.414, then the value of v/6 — /3 upto three place of decimal is :

(A) 0.235 (B) 0.707 (C) 1.414

- The rationalisation factor of 1 is:
(a-9)

(A) V5-2V3 (B) v3+2V5 (C) (V3+v5)
' (125)*§ =?

(A) 5 (B) -5 (€)%

The value of [(81)%] 2 s:

(A) 3 (B) 9 (C)-3

. Write the correct answer in the following:

1 .
N equal to

(A) 13- 2v2) (B) (C) 322

- The rational number not lying between £ and 2 is:

(A) 2 (B) 72 ©) %
2 .
- The value of N is:
1 — 1
(A) == (B) v5-+3 ©) =3
An irrational number between /2 and /3 is
(A) v2++/3 (B) v2x /3 (C)vV+v2+3

Answer the following short questions. [2 Marks Each]

Find three different irrational numbers between the rational numbers % and 1%

Simplify:

1\ 6

153

94
Prove that:
Vxly x /ylzx vz lx = 1.
Answer the following questions. [3 Marks Each]
Locate /2 on the number line.
Express the following decimals in the form %, where p, q are integers and q # 0.

0.235

Simplify:

1 2 3
VI VBB VBB

(D) 204/5

(D) 26

(D) 0.471

(D) vI2++/5

(D) -1

(D) 3 +2+2
(D) %

(D) V5++/3

(D) 4/V2x /3
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